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                                   Graphing Absolute Value Worksheet
Graph the function.

1.
y = (x – 3(


2.
y = (
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Vertical Stretch, Shrink, or Neither?
                                       Vertical Stretch, Shrink, or Neither?

What is the Horizontal Shift?

                                       What is the Horizontal Shift?

What is the Vertical Shift?

                                        What is the Vertical Shift?
Open up or down? 

                                         Open up or down?

Domain:                   Range:

                                        Domain:                      Range:
3.  y = (x + 1 (


4.
y = ( ( x ( 2 (
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Vertical Stretch, Shrink, or Neither?
                                       Vertical Stretch, Shrink, or Neither?

What is the Horizontal Shift?

                                       What is the Horizontal Shift?

What is the Vertical Shift?

                                        What is the Vertical Shift?
Open up or down?

                                        Open up or down?

Domain:                 Range:
Domain:                  Range:
5.  y = (
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6.  y =
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 (x – 1 (
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Vertical Stretch, Shrink, or Neither?
                                       Vertical Stretch, Shrink, or Neither?

What is the Horizontal Shift?

                                       What is the Horizontal Shift?

What is the Vertical Shift?

                                        What is the Vertical Shift?
Open up or down?

                                        Open up or down?
Domain:                Range:
Domain:                      Range:

7.  y = -2(x + 3(


8.
y = 
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Vertical Stretch, Shrink, or Neither?
                                       Vertical Stretch, Shrink, or Neither?

What is the Horizontal Shift?

                                       What is the Horizontal Shift?

What is the Vertical Shift?

                                        What is the Vertical Shift?
Open up or down?

                                        Open up or down?
Domain:                  Range:                                                              Domain:                Range:
9.  Write the equation for an absolute value graph that opens down, has a vertical shift up 5, has a horizontal shift left 3, and has a vertical stretch of 4.
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